E5F 68

18 () 2H (K) 3H (K) 4H (&)
E] BMf —A&Y | |#mus Bt —AZY | |#us B4 —A&Y | |Bzs B4 —A&EY | |#zs B4 —A&Y
ERDE EXRDE ERDE ERDE ERDE
EN L I=EEEL) 62| (& |BpE/NY 50| |71 [HEEK(EE) 60| |X |HEX(ER) 62
C [mEskER) o8] % [mm 50 |/% [HER(EFH) 0] S [BEXER 68
R AT o | |[nem 15| (2 [rmz =6 o |5 [z au 6
EE =L 7 HEE 15| |7 [RHE B 7 kHE B 7
3 _ i _ = — 4
g, |&E 206| |3L |4EL 206| |~ |4EL 206| |z, |4E 206
£
B |BAKRSIVTF 15| (% [messk & (3emf) 30| | |BAKEIVF 25| A% |#pm2x2mzr54R) 20
B |&E 2| |7 [Exevit (onfe) 20| & [BA vER 7 R e — 20
¥ ez 06| g [#35H IR ET 20| |8 [oEzalzel 25
;—; [SAIX 02| [& |GDEREH VL) 08| |7 |E&% 15 ; HEWNIIFES 15
o |GEETF Avk 50| |£= 08| |4 |FELTUA 9 | |AZ 10
v | EE 40f |7 [IzAl< 03| g |[BE/LTUS 9 o [CRIEPVAHFA 8
o |Furova 2] || [EOE 25 E—<v 8| [c [Eoucs 3
4 [AZ 0] (¥ [z 25 [ZAl=< 05| |2 [#355m 1
1 |EHOKECR—IL) 8| | |EE 25| | [R4—bOL w18 004f |D  |ROFEH 4
D [LnEF 2542 o| | [Eut 15| || [o55m 1|3 |[meEEER 3
# [k 08| |7 A 3| |Z |mE 1
5 |Eaz o| |V [ Em 5| % [mo=s 25| ¥ [2Y4 05
e sy | = A \ 8
o |EOE 22 g5 15 7 |[F4RE=Y—=Z 1y |2 20
02 AP ) 2| |, oAy 25| | BB 1] |z
Z  [FERraLuA 06| [ [BBL 15 [ AGA=F) 09| |&# [Zw3Y 30
T |TARA 1 =¥ 15 BiE 04| [ |KRR 20
b |FZRE 003| & |[AB 7 SL&d 002| |2 [AB 5
A B 20| |3 [B55H 1 ThIA 1 (B)4DHHE 5
3 3 |EOs 08 CEi 0.7
| [Eeny 35 ;ﬂ CEiH 0.5
5 MRE 5| |p | TEZIVVSL 03 Ry LR/\L GER) BlikE 7
L AB 10| |z |BE 0.2 AW 15
booBYBECE 11 cL&d 0.03 EX 15
~  [®BELEFLYLVY 10| [7  |[{Eh2E 1keg 0.5 FoTUHA 10
IJ\ )\% 7
;"; (B I— L 0l |7 [Wwh>5F5m 25 E—2> 5
7 PR EF 20 (LR BER—=TF 4
- n [AZ 5 EOE] 05
I PhE 5 Y55 05
¥ |FlLbhd Byk) 0.6 FEaAVY A 0.3
R Sy 15 CEi 0.1
5 BB i BiE 05
[ |EOE# 0.8 ) 0.03
. |BiE 0.4 & 130
N | FERVOVYA 0.1
ko (BIVET =LA 5
2B 120
H
T \®y—p—y—ty— 50

_1_




E5F 68

78 (A) 8H () 9H (7K) 10H (K) 118 (&)
eI % BRd — A&y | (a4 Bmd — A&y | (mza Bmd — A&y | [#izsa Bmb —A&Y | [#ez Bmb —A#Y
ERDE RS E EERDE EERDE ERDE
£ |[BaxEHE 60| [& [HEER(ER) 55| (3 |auxssy 50| (B [#Ex(E®) 60| [\ ek (ER) 55
< [BAaxXER 70| |Y  [kHZE B 5] [V |3y 50| | [BEX(EFE) 0| Y [kHE Bk 5
e of [ [omme mmstixm 15| [ ki Ew 6 B [rmexenzsx 15
*kHE FHF 7|7 [owmm sbommLaxim 10] I3, 43 206 Kbz FE 7 5)" WUEF 8
& F [CE>SEENE-CEAR) 7 4 te  |EEF 5
g, |&EL 206| (A |[AZ 1| |4 |me s gL exom 18] |z, |&EL 206 (= |AZ 7
Y BT ERE 5[ |12L  [me tt-gaLexom 12 Z BS54 0.8
T | BSEnEER i 50| |~ | HSEHE 15 BR 2| K [BAEx3mR5LR) 50| |# [EBOE 3
[ [sgotza 70 O 25| 1B [casa 5| [ [z o5 |= [&E 2
2 f'z A 15 'i‘] A BL BB E 15 g EX 40 % BbiE (E It 15
= £HL 25| |* o (E %) 12}~ 1 f=4aid 5 |5 LoHL | Y |BE 0.5
P o S 20| |y [BE 05| |,¢ |EMAE(HIHE) 3 |z |BhE 5| |
EpdY 2| |y [HLE 1 [ |[REOEH 25| | [HSHiH 2| |A |&EEL 206
W |wersontiysy 10| |+ o |£E=E 0.8 tYiE 65| |y
£l L (&3 206| | [IAl< 08| ¥ |(EEE(CEBE) 25| |~ [TARS 8
ONNNF::t - Tos RS Y |EE 15| |5 |FHHz 2 E)EbhD Ak 1.2
CEPY] 2] B [TASS R 005 | [ROE; 1| |F |[eookEc—m) 15
_g} ET 10 2 AZ 0] [T [z 4 [ [BE 1| [ [EesEs 10
? |aoErn o] |5 [2FLAR o |, |#w® i |® |[wyEcE ||y [2Ecale 10
A5 7 WYBRITE 1|z |[BYyBac=E 05| |14 b A5 7
& |HRE 5| |2 |EDHHER 05| |,% A |[Lebihg 60| |;n |CFEMH 1
%  [FlLbss Gyh) 06| | |SFEH 05| |5 |ZR/IASHZR 20| |5 [AZ 5 | [ROEH 3
T |BhAaz 6| [i+ [BOE; 2| |V [y 30| |A |[pTiE 1] |0 |Eb#E (R 1.6
. BB 5 #HYA 1|7 |@Rk—pia—y 7| [t T | AYh 1
m|&ZFL LA 4 1B e 05| |¥  [@®=3xr—x #i 8 5B 25| [A [£Lit 5
i xk 120 g Uit 20| | [@zar—x 10 HiBIF 7 2
75\ v y i TS F: Sp) 13 (B IRFEAYDR 25
4 B ABRADA 80| |y |GR)IFT LA 25| | |BrLRoLGET) iRE 10 DEZAITRL 10 |g [EE 15
~ [ #:% & (3mm) HEDEES: 20 AS 1| [ [hiaZE 10
I ~  mEss 1[R[ FHUYA 8 FhE 5| i+ | A 5
qn N | oECAIZEL 1o |1 Az 7 08 2 hha¥ 5
o P i 5| |7 [@E)tAbA 7 BiE 0.5 #OE) 2
% D Lntt 254% 5 (LR ABR—F 4 Y 1LF 4 EE i
= % |pomm 2 O i HLET i BYA 05
BiE 04 FExaVYA 0.3 K 120 HIYET LA 4
BIVET ~LH 4 Bif 0.4 HLUE® 1
HLER 1 ZL&S 0.06 7K 130
7K 130 & 130
(@ BAmEtr)— 50




E5F 68

148 (A) 158 (K) 168 (7K) 178 (K) 188 (%)
B % B4 —A&Y | [wuse BB —A&Y | [#ze BB —A&Y | [#za BB —A&Y | [wuzs BEmB —AgY
ERDE EROE ERDE ERNE EERSE
EE=EE T 60| |7 [#EEX(HE) 55 [3 [2yRigy 50| |£  [HBEX(EH) 60| | |HEEX(BK) 62
CNETEEYE ) o || [raz sk 5| |7 [aumiy 50| | [EEXEE 70| (B [EE%(ER) 68
% lknz zm of |7 [onma mmstoxm 1] X % [xmz zm o| [ [xmzE &k 6
RiE Fit |y |uhmsm tbeEaLGxim 8 |, [H£Z 206 Kpiz FH 7 E RuiE B 7
# Y i # 4 EERBDHGD 1.9
2 |45 26| 5 |[EE 15] |4 |mes #a-BersL (2.x 20m) 6| |z |4EH 206/ |~
7 |AB 5| |2l [mm s mmLE@x2m 4 E L 206
N[ dtcbLbURBBTE 35| [~ [ZULF Hub 5 HHfEE 4> F— (20m) 20| |8t [EEEE 85| |A
fo |ttt 4l £ [BoEkE 5/ [ [Wwh)5$omm 20| |2 [EBAXZILF 20| |Y  |BrEx2m2542) 35
< lmpE 2| |A [izal< i| B [hems o |2 [E2 30/ [ [ALIES 35
:5\ BEE 35 \i Y55l 1.4 3; Lehrg 50 % FUF YA 10 |, RS AlzeL 30
bH LEAE) 25 INF— 08| | |E& 0| |2 |AZ 10 |z |AZ 15
L |EHECEBR) 25| (& |FRLAVYA 07| [L [AZ 10| |z |BBE 3 B EPVAITA 7
n |#YA 09| [z |BiE 08| |1 AN ) 05| [# |FLLLEHERSAR) 1 (g |35 1
B [= 0.01 cL&> 0.03| |& [HZ5H 11X |[£EE 05| |8 [ROE 4
B |k 13| |0 BRESH 2| |5 [IzAl=( ol &€ |#YA 2
i L I3 206| |7 [ROES 12| | R [CEm 1S |[mEchas 2
T [z 25 fc; 7 |pmcER 08 |, [FEat 65| [* [&E 15
N [E®3Y 2| |2 [Frsy 30| |7 [FEravvs os| [ [mm(=E® N 05
w o |AZ 10 g |E03Y 20| |y |pL=8 03| |5 |BHE 2| |= |& 8
F |[@®amEARLyLLY 10 (G i ) 1= 5| |5 |BiE 03| |i# [BOHE 2| |y
) zX  |(B)UVLE 12| |4 [SL&S 003 | [TCARA 1 Ep5Y 30
M [BEEx2nR5/2) 15| v |[&BU— 1 ol 25| | [=Bk 0.02| (B i 20
B 3L 20| | ¥ |@wscsrLysy 10| |7 7|k 20| R |AZ 7
B noEs 1] |! A E 30| |# D |ewateriosay 10
e 0| |~ [r=azcEm w0 1§ [2e3y o] [ &L 25| (2
s |RECAlTRL 1|z [(BEVATFAS 10 |7 [GEhR—La—y 5 |2 |E#3Y 20f 3 |UE)F—XgKi1E 15
L [BRE 5 [ | Ryd—= 2| |1 |FESFUB 5/ [y |[AB 5] |
5 | EAE 9 |7 |EE 20| [z |AB 5| |7 |ELBIF (EATIY) 1
» |ELEFL 4 A 5| |~ [@wmasuzoriysy 10| || BwYBIF 1 [F
Z |k 110| |3 (LR AHR—F 4 |/ T [@wyysslr=ArrLysys 10 I‘
| [Eom 05| [P [@arasai—xz 125 [~ z
B [@orzoy 0] |7 [FErarus 04| [? B pay 5| |~
o+ Yo [casa 04| |# 7= Eo8) 4
) . |EiE 05 BhiE (E B4 U o
G I ZL&S 0.03 HYA 1 |
= h B 120 EOEH 03| |~
D ) 7K 1
Y & |dmIa—y st 70
N
th
)
#




E5F 68

218 (A) 228 (k) 23H (JK) 248 (K) 258 (£)
eI % Bmd — A&y | (a4 Bmd — A&y | (mza Bmd — A&y | [#izsa Bmb —A&Y | [#ez Bmb —A#Y
ERDE RS E EERDE EERDE ERDE
i L= i) 60| (¥ |HEX(ER) 55 (3 |2yt 50| ¥ |#EX(FF) 60| (7= [HEEX(BR) 55
E |gaxEH 70| |& [kHZE BE& 5] [V |3y 50| | [mE%X(EH) 0| |5 [kHE Bk 5
* o LkmE E=w 6| [T [Beexemzzz 20| 7 = [kaz E=g of £ [GA)=Ctom) 30
% Kz FiHE 1 3 |E2 08| |1, |43 206| | |[RHE FFE || &= 1
= A |ERELFCEAR) 18 Y  [ELIEFES 8
Fa = 206 | |[AZ 1 (& |ru—zmm s ssLexem 24| |5 |45 206| |A |AB 5
A E ML ERE 5[ |12L  [me tt-gaLexom 16] (L Ui HiGT 5
~  [BARGx3N2512) 20| |A  [BWYBASE 2 ~A—ar (Em 5|1 BRE (3 X 3emZ5A R) 25| |~ RTERT 5
4% 2| |Y  [CEmd 2| |17 [Lehing 40| |7 [Leping 35 HS545h 1
* |&mE 1| [~ |[Ecam o |V [E& R ET: 35| [F [omm 3
7 (8) ERLA (1 X 4em) 10 # EOE) 1.2 5 AyF—= 5] [ [r=rkE 15] [# BB 2
BB 1| g [FEravys 05| | |AB 10| [ [T 15] |z |[EOBECEESHE) 1
L Keb)s4omm 25 BiE 01| |gg  |ISAI 1|z  |kthik 2| g |BiE 0.1
L |y 40| [+ P VA% <4 05| [z |AB 10| |k [HLE®R 1
v |EHE 30| |40 (4R 206| |8 |HSAH 1| |A |BDEER 5 |L
b |HookEGR—L) 15| |V % [r=bkE 25| |~ [ELUXE 40 |V (&3 206
D AB 10 1L 20| [P [r=brFevT ik 3 [ZAl=¢ 05| |~
B ppE 5 ': =p>5Y i5 1:7 FAESE 1 f'z £ 02| |7 [Ery 35
;’3 Y55 i, [rz 71 N 7 TO=T ) 08| | [¥s54m 2| 2 [Ee3y 25
¥ LRBSR=T 3 | |@wmamrLysLy 0] | |2RE—Y—R 07| |4y |MEH 5 |z [@®EAFLyL LY 10
BOE] L1 |5 FEravY 4 06| | |YSFH 5
3 | FExravyA 04| |A  |RyLzNLGER) RS 5| [ |B’iE 03| [ |AL—# 1] (5 |mEF 5
| B 05| (& |byo EEXER 20| [ [SL&LD 0.03| |5 (LR MR—=F 3| |B |&3584 smEaB09 15
L [cLsd 006 |? |[EZE 20| |9 [B 20| [#  [r=rrFryd kg ANEES 15
2B RIS 1 7|\ Fh¥ 3| [P o [mzrE—v—2 | |# Az 8
4; CEil 05| | |Flbird hub) 0.8 Z ENSIES 25 |S [EAdDY—R 1| [T [Lokd z54% 5
g b 50 BS54 05 EpS5Y 15 : EOE] L] O FhE 5
g [LRABR=F 4 |15 |AB 5 |= |FxUR 450g 1|y [|[B&E 5
CRLL»E 20 |2 [BOE; 08| |3 |UR)A—La—> 5/ | |ERESHE 1 g |B#Z 4
TARA Al |7 |[FEXRraUA 04| |13 |@wrEmcERLy Ly 10| [~ |Bi& 07] [+ [BEFL LA 4
Ht-4ail 4l |7 |BIE 04| [K N [FERUaVYA 05| |5 [k 150
Yo |oLgS 003| |2 [wFaoxssu—a T B L ) 0.04| |~
3oL 40| |7 ZFEH 0.2 |’7 (%) FaakFoY—L w15 [P [ 85| |F (&) AEHLLULE 30
FTHA 15] [v b 140 |J ? gi
A% 1| [ I (#2) SV R e
(B PEFLYL VY 10| | |EI3FTYIIL 28| | - Ty 30
H I EpiY 15
~ i (fR)h—ILa—> 7
) EBLERLYL LY 10
&
~ S S d N 30




E5F 68

288 (B) 298 (K) 308 (k)
eI % BRd — A&y | (a4 Bmd — A&y | (mza Bmd — A&y | [#izsa Bmb —A&Y | [#ez Bmb —A#Y
ERDE RN E EERDE ERDE ERDE
N EE A 30| |£ [HBEX(ER 60| 7 [awRsty 50
Lo 30| (S |H#wEXER) 70| [Y |3y 50
> B Iz sm 6 7%
~ |HEE 206 XKAE FHE 1y 43 206
JAY =S
R aVZ S 25| |3, |4EL 206| (4 [A)EFEOBEBE 45
~—ay (5Ef) 5 2 |Elzid 5
4+ syt Esy 10| |F [BAGx3mRSAR) 30 EBif 0.1
L (BaRESE 1] |C [Lenrd go| |7
X 20| |* [z 50 ¥ [Zw>5Y 25
Z 7 ZNTHR 15] 1P [o=cAlze< 25 33)\ 7 ZNTHR 20
5 [L&L 12| | |DTEEZ 5 lig [wwmmoErLovyy 10
A 3ty 05| (o | B34 1 |F
YU lIzAlz( 03| |= |BOEH 4 G BAVAITAE 10
7 Y55 1 (A [EhEE (PR 3| (B [R—ar Em) 5
Yo linE 3| |B [ EE 3| 1B |E& 30
L'\ HS545h 2 ? Bis o1l 1% [hetikE 20
pell I [ ) 5| |y [AZ 10
o [ FEavuL 08| |4 5 THA=(I)L) 5
% |BiE 05 [x |Z=3Y 2| |5 [(LRHABR—T 4
L& 0.03| |Y AS 7 Y355 1
14 [E¥YAF—X 3| [ [YIFLKR 5/ [~ [BOE]) 05
7 |[EERA4I 25| | () h—a—y 5/ | [FExravys 0.3
LA 05| | B [@axEH os| b [&& 04
Z AN (T T 10 7|‘ LsS 0.03
Y FeRY 25 th - = 120
5  |Ew3Y 25| | (LM BHEYERE 10
& @R R—)La—> 5 |#
FNT A 5| [«
I |@w1surskresy 10
L
Z o FLuY 50
v
N
th
)
&




